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|Question Paper Code : Q 2708

B.E./B.Tech. DEGREE EXAMINATION, NOVEMBER/DECEMBER 2009.

AR
ot

Annual Pattern — First Year
Electronics and Cmﬁmunication Engineering
ECIX 02 — CIRCUIT ANALYSIS
(Reg'ulation 2004)
Time : Three hours : k Maximum : 100 marks
’Answer ALL qﬁestions.

PART A — (10 x 2 = 20 marks)
% What do you mean by “the two circuits are equivalent circuit”?
2.  State Norton’s equivalent circﬁit.
3.  Draw the response of a second order system.
4. What is the Laplace transform of

(a) e u(t)
(b) sinwtu(t)?
5. InRLC circuit what is the relationship between voltage and current?

6.  Draw the power triangle and name the different powers.
7. Defineh — parameters.
8. Define coupiing Co—efficient.
9. ’ Define poles and zeros.

10. Define complex Fourier Series.



[image: image2.jpg]PART B — (5 x 16 = 80 marks)

11. (a) () Find the equivalent resistance across A and B in the circuit
11 (a) (i).

(i) Find the equivalent Norton equivalent circuit across A and B for
the circuit shown in Figure 11 (a) (ii).

Figure 11 (a) (ii).
Or ,
(b) (i) Derive the formula for converting delta to star circuit.

(i) Find the ‘R’ for which the maximum power occurs across the
Resistance for the circuit shown in Figure 11 (b) (ii).

A

Figure 11 (b) (ii).

2 e Q 2708




[image: image3.jpg]12. (a) Find the current i in the circuit shown in Figure 12 (a).

Figure 12 (a).
Or

(b) Derive the unit step response of a series RLC circuit and discuss the
- three damped condition.

13. (a) Find the current i in the circuit shown in Figure 13 (a).

4

- Figure 13 (a).
\ =+ Or
(b) A voltage 28.28 IﬂV is applied to a two — branch parallel cricuit in
‘which 2, =4 @Q and 2z, =5 lﬂ Q. Obtain the bower triangles for
the branches and combine them into the total power triangle.
14. (a) (i) In the coupled circuit shown in Figure 14 (a) find V,for which
=0 : (10)

Figure 14 (a).

(ii) Define Resonance, quality factor. (6)
Or
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[image: image4.jpg](b) Find the z — parameters of the circuit shown in Figure 14 (b).
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Figure 14 (b)

'15. (a) (i) Find Laplace transform of e™*u(t) and e™ costwtu(t). (10)
-(ii) Prove that the convolution in the time domain is equivalent to the
multiplication in the frequency domain. (6)

Or

(b) (i) Find the Fourier transform of a rectangular pulse which width is 7'
: and amplitude is A and plot the magnitude spectrum. (10)

(ii) Explain how the Laplace transform is used in circuit analysis. (6)
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